AHEE

HEFERER: $f0 3 &£ 5 ARty
sy HAF S (Ftd) XEEEFEE(
HEX 1 A D ERE = -
(5 BIZ4+) (Imizft)
913.0000 F9 (FsA) 4145020 F(FzA)
A om ~80mET
830.0000 F (Fitk) 376.8200 M (Fitk)
1,254.0000 M (F73A) 371.8770 H (FziA)
B 81m ~300m E£T
1,140.0000 M (Fitk) 338.0700 F (Fitk)
2,600.7300 FH (Fi#3A) 326.9860 F (FziA)
C 301 m ~
2,364.3000 M (Fi3k) 297.2600 M (Fitk)

KIEEMTEMTRBHME(BARB)NEFTLTVES,
T 3 £ 5 AOREBHE : —60.20 M (Fitk)

OHAHMENHE
(5] 17ADERAZ 15 mMOGE--HekD B 28H

BIRHE = MER B OEARHE + (CHEAEM)x B REMEEM GAKRBIRRT

= 1,140m+ (150 m x 33807 A)
= 6211 M
HEBSE = BIHE x HERE CARFEYIET
EEE]
= 6211 H x 10%
= 621 M
AZHE = BIRHE + HERFHEYUE GARBIEO

= 6211 M + 621 H

= 6,832 M| — ZiEK%E




